
Problema s«pt«m¥nii 74

Anna �si Berta joac« un joc ��n care ele mut« alternativ, ��ndep«rt¥nd jetoane de pe

mas«. Anna mut« prima. Dac« juc«toarea care urmeaz« la mutare g«se�ste pe mas«

n ≥ 1 jetoane, ea poate lua k jetoane, unde k ≥ 1 este fie un num«r par cu k ≤ n
2
,

sau un num«r impar cu n
2
≤ k ≤ n. Un juc«tor c¥�stig« jocul dac« ��ndep«rteaz«

ultimul jeton de pe mas«. Determinat�i cel mai mic num«r N ≥ 100000 astfel ��nc¥t

Berta s«-�si poat« asigura victoria��n cazul��n care jocul��ncepe cuN jetoane pe mas«.

Problem of the week no. 74

Anna and Berta play a game in which they take turns in removing marbles from a

table. Anna takes the first turn. When at the beginning of a turn there are n ≥ 1
marbles on the table, then the player whose turn it is removes k marbles, where

k ≥ 1 is either an even number with k ≤ n
2
or an odd number with n

2
≤ k ≤ n.

A player wins the game if she removes the last marble from the table. Determine

the smallest number N ≥ 100000 such that Berta can enforce a victory if there are

exactly N marbles on the table in the beginning.

1


